There is an AETHER

The Michelson-Morley experiment and other similar experiments failed to detect an aether wind. They
were looking in the wrong location.

Please allow me to explain.

All of the experiments were done on the surface of our planet. There is no aether wind on the surface of
any planet because gravity has compressed the elements of the aether. The aether moves with the
planet.

| propose that our universe consists of an aether of pure energy. Our scientists are stating that atoms,
electrons, and all of the other elements of an atom are particles.

| propose that everything in our universe is constructed of energy elements, similar to the strings or
busons. They are not particles, but energy elements and they all show themselves as waves that react
with other waves and simulate a particle. All of these basic building wave elements are included within
each invisible non reactive cell of the aether.

Everything as we know it is a 3 D hologram that we can touch smell and taste.
Every element that exists is a compilation of energy bits, dipoles, or what name we wish to call them.

GRAVITY cannot be explained by conventional theories. We cannot actually see any element smaller
than an atom. We know there are elements smaller than atoms and we see the reactions after we
smash them into each other. We cannot see the aether but we have seen the way energy moves
through our universe by some type of conveyance.

Gravitational lensing is a fact that has been observed for years. A mass distorts the aether in its
presence, its acts the way Albert Einstein said it would, but our vision of how it does works needs to be
viewed a little differently.

We need to envision a planet in space for example, as compressing in 3D the units of aether surrounding
it. Also the mass of the planet affects the aether surrounding it for a great distance until the aether is
affected by other body in space.

The aether acts like a field totally surrounding the body and moves with the body until it reacts with
another body. This is why we cannot detect an aether wind close to the planet as it moves through
space.

Gravity is the attraction of two or more bodies in space for example. The aether surrounding each body
reaches out to each other. Each element of the aether is stacked end on end positive to negative and
reach outward from the body. The more mass the stronger is the total collective force because there are
more aether elements that are aligned.

Kepler’s laws deal with the area and the volume of the space between the two or more bodies.



Envision our moon with a polarized aether surrounding it that reacts with our earth that has a larger
polarized aether surround it. Then our sun is reaching outward with its polarized aether surrounding it.
Then out galaxy is enclosed within its polarized aether and they are all orbiting and spinning with their
attached perspective aether turning with them.

This accounts for the attraction between bodies, the gravitational lensing and all of our other
observations. Any combination of elements can pass through the aether without resistance and the
aether can pass through any element because they consist of energy waves of different frequencies.

In closing, everything we know consists of a combination of a basic element waves that combine with
other basic element waves to create a solid particle appearing element.
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| read the book “The Universe is Only Spacetime” by John Macken.
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site “ Wikipedia”.

Written by George Rhude June 15, 2014.

Comments to: never@genusl.com



